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1. The demand Q1, for a certain good depends on its own price, P1, and the price of an
alternative good P2, according to

Q:1=30-3P;+P,

(a) Find Q;ifP;=4and P, =5
(b) Is product two substitutable or complementary? Give a reason for your answer.
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2. The market demand curve for a product is given by: P =- 0.4 Q +120
The supply curve is given by: P = 0.6 Q +20

Sketch the two lines on an “Q” and “P” axis
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Find the equilibrium point E

@

Suppose that a new manufacturing plant is installed, resulting in a new supply curve:
P = 0.1 Q + 40; sketch the new supply line on the same axis and determine the new
equilibrium point E’

d. Do you think the market situation is improved after installing the new manufacturing
plant. Give a reason for your answer ?
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3. Multiply the following two matrices:

/ I e N
A= ; 5 3 | B= 08 -06
5 4 i -1 1 f
L / o _

Based on the result obtained, what can be said about matrix “A” and matrix ”B”.
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4. Use the Cramer’s rule to determine the value of X
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5. Find the inverse of the following Matrix
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6. For the following matrices

2X+4Y =4

3X+6Y=6
(a) Organize the above equation in a matrix form A*B = C
(b) Find DET(A)

(c) Based on the results obtained, is there a solution. Give a reason for your answer.

(d) What sort of matrices is matrix A. ( circle the correct response)
Singular matrix
ii. Raw vector matrix
iii. Column matrix

iv. Identity matrix
2 ¢ X 4
3 6 i . 6



